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WEals SRR L 4,644,000 13)= -4,644,000
s8tad FRE 6,079,000 #138]= -6,079,000
golma F37 1 -716,0009)%13]= ~716,000
S SR8 0 -492,0009 #13]= -492,000
otz dy] F74E ¢ -1,282,000913]= -1,282,000
FAR = 1 724,000 #13)= -724,000
29 F74E ¢ -1,116,0009x13]= -1,116,000
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A G FFE 0 -614,0008+13]= -614,000
3. [Z](nE) ety JAF g2 974 800 174
| A A g 974 800 174 E fiiﬁé:} AERT TR 174,000
2. 58 uNeY 39,705 40,071 -366
LIz]EEde9 14,687 14,756 -69
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1L[2]20Ed 338 338 0
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el Ao EFH] 0 -256,0009%13] = -256,000
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1. ukgn] 10,032| 10,170 _1gg| A B FAA T -19,00040415] ~19,000
APEE3E ) 1 400,0009%13] = 400,000
SR ERET _ﬂ%ﬂi ASHY R ~36.000
-36,000¢)%13] =
fﬂﬂée‘ +94 BE 79 0 -220,0009913%] 920000
5t A7y 0 -263,0009+13] = -263,000
o] @7 2024\ 02€ 07Y 11A] 4782 57% 21 ANEREH NEod 2T




20238 A= A= of| AT A A]
of AR F763] (ch9l 1)
A4 A=A 714 H) 1 a2 ()
Il AL L T PP P I o o I o s T
27183 ERF 536 800 -264 fgg%i;i;l’faﬂ%¢¢ﬁ : ~264,000
3,991 13,100 12,100 1,000 | vl & &7deln] 1,000,000 +13]= 1,000,000
4. 22 QB2 255 400 -145 | 5 2] ¢ 145,000 %13 = -145,000
5. ke] 371 ] 416 600 ~184 i;% AHFEA Hels| ¢ -184,0009 ~184,000
6. 1] 41l 6,520 7,870 -1,350 | A vF 79 1 -1,350,00099%13] = -1,350,000
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